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RATIONAL NUMBERS

lllustration

1. Find two equivalent ration numbers for 9

° Watch Video Solution

) 87 .
2. Write 116 in standard form.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_MGS8EBYaXPKO
https://dl.doubtnut.com/l/_uBZ4reYbDLGe

3.C 4 =°
o ompare 3 an 3 .

o Watch Video Solution

6
4, — —.
Compare 3 and 3

o Watch Video Solution

5. Arrange the following rational numbers in descending order.

4 -6 23 9
217 773 —-14

° Watch Video Solution

6. Represent 3/4 on the number line.



https://dl.doubtnut.com/l/_uBZ4reYbDLGe
https://dl.doubtnut.com/l/_BWBUXBMKgJS1
https://dl.doubtnut.com/l/_ruwhXbTVrGAc
https://dl.doubtnut.com/l/_AtHArmpn4DQc
https://dl.doubtnut.com/l/_fb8GexjxLDSu

| O Watch Video Solution

7.Represent 3/5 and -8/5 on the number line

° Watch Video Solution

) ) —4
8. List three rational numbers between - and 5

o Watch Video Solution

-3
9. Find he value of p such that — and are equivalent

—28

rational numbers.

o Watch Video Solution



https://dl.doubtnut.com/l/_fb8GexjxLDSu
https://dl.doubtnut.com/l/_jeosrR0LuAt5
https://dl.doubtnut.com/l/_kvuuKJ5ROM8d
https://dl.doubtnut.com/l/_akacT6a5ETyP

10. Add 11 d 0
. 8 an 8

° Watch Video Solution

-6 —9 -3

o Watch Video Solution

12 -9
12. Add ? and T

° Watch Video Solution

13. Add 2 d6
. —g and +.

o Watch Video Solution



https://dl.doubtnut.com/l/_Wf0LrDTd5t9F
https://dl.doubtnut.com/l/_EOCoSFmi2P50
https://dl.doubtnut.com/l/_aQk7XUu2ySxe
https://dl.doubtnut.com/l/_epsEKPpqgZA0

14. Substract the rational numbers 3/4 and 2/4 by using the

proper rules.

° Watch Video Solution

| oo

15. Subtract the rational numbers 3 and

° Watch Video Solution

oo

2
16. Multiply the rational numbers, 1 and

o Watch Video Solution

1

-1
17. Divide —by—.
7.Divide 5 by6

o Watch Video Solution



https://dl.doubtnut.com/l/_W92YuzyTvSsS
https://dl.doubtnut.com/l/_mckaqI2ztE7P
https://dl.doubtnut.com/l/_oPPAGYYhw173
https://dl.doubtnut.com/l/_wQNM9T3bd6jH

18. The product of two rational numbers is If one

numbers is 5 find the other number.

° Watch Video Solution

1 1
19. A car covers a distance of 100— km in 1—hours. Find the

3 2
distance travelled in 1 hour.
° Watch Video Solution
20. The rational number — is divided by a number and the

35

—4
result is —— What is the number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_wQNM9T3bd6jH
https://dl.doubtnut.com/l/_pLXp96F5Ijff
https://dl.doubtnut.com/l/_mqXG4OFSF4fM
https://dl.doubtnut.com/l/_DqOjiP1XJp99
https://dl.doubtnut.com/l/_WZMgyVuxlbtp

-1
21. Divide the sum of 3

and = by their difference.

o Watch Video Solution

Solved Example

7 : , .
1. Express — as a rational number with denominator :

—15

o Watch Video Solution

7 . . :
2. Express —— as a rational number with denominator :

12

° Watch Video Solution



https://dl.doubtnut.com/l/_WZMgyVuxlbtp
https://dl.doubtnut.com/l/_QOTBheNvpq7o
https://dl.doubtnut.com/l/_OPRoRgyslxc3
https://dl.doubtnut.com/l/_Nt1N8RmULZpR

7 . . :
3. Express —3 as a rational number with denominator :

18

° Watch Video Solution

4. Express — g sa rational number with numerator:

—10

° Watch Video Solution

5. Express — 3 as a rational number with numerator:

10

° Watch Video Solution



https://dl.doubtnut.com/l/_Nt1N8RmULZpR
https://dl.doubtnut.com/l/_2J6r0Kz5A8Mp
https://dl.doubtnut.com/l/_4o4PZhWCRnd9

6. Express — — as a rational number with numerator:

8
15

° Watch Video Solution

7.Find there rational numbrs equivalent to — 3

° Watch Video Solution

8. Arrange these rational numbers in ascending order

3 4 -7 -2
87127 167 3 °

o Watch Video Solution

3 1
9. Find 3 rational numbers between 7 and 3



https://dl.doubtnut.com/l/_2962uzx6afGa
https://dl.doubtnut.com/l/_zmokC2JpBCcb
https://dl.doubtnut.com/l/_qCaDc6Jgedar
https://dl.doubtnut.com/l/_6gx9XzhPSzhd

| o Watch Video Solution

oE I t .2

o Watch Video Solution

11. Evaluate:1 > 5
. Evaluate: _—7 ﬁ

o Watch Video Solution

9 1
12. What should be subtracted from — 20 to get — T ?

o Watch Video Solution

) . 21 12 -3 —12
13. Slmp|lfy: 1_6 X ? - 3 X 9


https://dl.doubtnut.com/l/_6gx9XzhPSzhd
https://dl.doubtnut.com/l/_uh1p0kcdOxvJ
https://dl.doubtnut.com/l/_QjzUzxUZgQCW
https://dl.doubtnut.com/l/_iJCLD8rh3HQM
https://dl.doubtnut.com/l/_T3bhGK9xWLbz

o Watch Video Solution

14.  Verify z X (y+2) =(xxy +(zx2) , if

-84
TS YT e s

o Watch Video Solution

15. Find four rational numbers between 1/9 and 1/3 and

represent them on the number line.

o Watch Video Solution

16. Solve the following.
1 N -7
2\ 5

o Watch Video Solution



https://dl.doubtnut.com/l/_T3bhGK9xWLbz
https://dl.doubtnut.com/l/_1E7APynzb7b7
https://dl.doubtnut.com/l/_8m82ndMNNaMh
https://dl.doubtnut.com/l/_ZMAmLhGSvjDw

17. Simplify the following.

L ()

° Watch Video Solution

18. Solve the following.

5.9
7

o Watch Video Solution

19. Solve the following.
-8 8

9 9

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMAmLhGSvjDw
https://dl.doubtnut.com/l/_CJnArWWii0DP
https://dl.doubtnut.com/l/_gGT9dHKeh6ti
https://dl.doubtnut.com/l/_ryR0envlXqeJ
https://dl.doubtnut.com/l/_voOd87A75YNI

20. Simplify the rational number and represent them on the

number line.

—4 1

9 9

° Watch Video Solution

21. Simplify the rational number and represent them on the

number line.

_7><3
9 2

° Watch Video Solution

22. Arrange the following numbers in ascending order :

9 -8 -3 82 1
15° 2 -7 “11’5

° Watch Video Solution



https://dl.doubtnut.com/l/_voOd87A75YNI
https://dl.doubtnut.com/l/_u58Ym4VFAMmp
https://dl.doubtnut.com/l/_cmlGujsDCR7D

-3 5 -7

23. Arrange the rational numbers , ,
7T —14" 12

in ascending

order.

° Watch Video Solution

4
24.How many piece of tape 3? cm long can be cut from a long

tape, which is 1 metre 75 cm ?

° Watch Video Solution

-8 5
25. Divide the sum of — and 11 by their product.

o Watch Video Solution



https://dl.doubtnut.com/l/_FMKZefT5IEvS
https://dl.doubtnut.com/l/_KdZsvfoQveuL
https://dl.doubtnut.com/l/_To4f922lGzWR

26. Simplify:
—91X—35 34)(—85 N —11)(12><
63 26 17~ 33 18 —33
° Watch Video Solution
7 -9 5
27.Simplify: — —
implify: £~ 797 T —33
o Watch Video Solution
28. Simplify:

5 N 18 N —928
23 115 138

I

14

23>+

69
17

)

° Watch Video Solution

Ncert Section Exercise 9 1

3
4

i)


https://dl.doubtnut.com/l/_vKvS9yX5ivIT
https://dl.doubtnut.com/l/_GOWKT9Uk3d0I
https://dl.doubtnut.com/l/_hzgMbezpcDge

1. List five rational numbers between:

—1 and O

° Watch Video Solution

2. list five rational numbers between -2 and -1.

° Watch Video Solution

3. List five rational numbers between:

o Watch Video Solution



https://dl.doubtnut.com/l/_BTitiArEnkDk
https://dl.doubtnut.com/l/_ARkYIZ68b8Q1
https://dl.doubtnut.com/l/_80xmoXNmrC64

4, List five rational numbers between:

12
T Aty

° Watch Video Solution

5. Write four more rational number in each of the patterns:
-3 -6 -9 -—12
57107 157 20

° Watch Video Solution

6. Write four more rational number in each of the patterns:
-1 -2 -3
4’ 87 127

° Watch Video Solution



https://dl.doubtnut.com/l/_0PNGhHOE5pkZ
https://dl.doubtnut.com/l/_k3l4sFZBIFtB
https://dl.doubtnut.com/l/_R9QaH8j3KgY4

7. Write four more rational number in each of the patterns:

-1 2 3 4
6 —12° —18" —24’ "

° Watch Video Solution

8. Write four more rational number in each of the patterns:

-2 2 4 6
37 -3 -6 -9

° Watch Video Solution

9. Give four rational numbers equivalent to:

—2

7

° Watch Video Solution



https://dl.doubtnut.com/l/_ci0P8mFT0dfR
https://dl.doubtnut.com/l/_lnUxA3r8MKiI
https://dl.doubtnut.com/l/_2Iu0osDPRwib

10. Give four rational numbers equivalent to:

S
—3

° Watch Video Solution

11. Give four rational numbers equivalent to:

4

9

° Watch Video Solution

12. Draw the number line and represent the rational number on

it:

3
4

° Watch Video Solution



https://dl.doubtnut.com/l/_ObgsR3CGq6T7
https://dl.doubtnut.com/l/_hL6X17rb3faC
https://dl.doubtnut.com/l/_x33El0bjr68l
https://dl.doubtnut.com/l/_M5DWkGiTAe1z

13. Draw the number line and represent the rational number on

° Watch Video Solution

14. Draw the number line and represent the rational number on

° Watch Video Solution

15. Draw the number line and represent the rational number on

it:

7
8

| ° WMiat~ \NNAAA CAliikian


https://dl.doubtnut.com/l/_M5DWkGiTAe1z
https://dl.doubtnut.com/l/_JAjyvRVhxeeU
https://dl.doubtnut.com/l/_9BWpLFXJ8lpo
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16. The points P,Q, R, S, T, U, A and B on the number line are such
that, TR = RS = SU and AP = PQ = QB. Name the rational numbers

represented by P,Q,R and S.

° Watch Video Solution

17. Which of the pair represent the same rational number ?

-7 3
o1 @d g

° Watch Video Solution

18. Which of the pair represent the same rational number ?

16 20
20 ¢ T

° Watch Video Solution



https://dl.doubtnut.com/l/_9BWpLFXJ8lpo
https://dl.doubtnut.com/l/_NjsozE95BNtE
https://dl.doubtnut.com/l/_L9EzHVHeBb1r
https://dl.doubtnut.com/l/_atIa2kAaDEeP

19. Which of the pair represent the same rational number ?

-2 2
—3 Mty

° Watch Video Solution

20. Which of the pair represent the same rational number ?

-3 12
5 ¢ o

o Watch Video Solution

21. Which of the pair represent the same rational number ?

° Watch Video Solution



https://dl.doubtnut.com/l/_atIa2kAaDEeP
https://dl.doubtnut.com/l/_ZgkRYOmMpWV0
https://dl.doubtnut.com/l/_Gojx8hp7xnmC
https://dl.doubtnut.com/l/_BBVTrxBn4PLw
https://dl.doubtnut.com/l/_8cU7RhFghTmS

22. Which of the pair represent the same rational number ?

1 -l
3 ¢ Ty

° Watch Video Solution

23. Which of the pair represent the same rational number ?

_5 5
—g 2d —5

o Watch Video Solution

24, Rewrite the rational number is the simplest form :
—8
6

° Watch Video Solution



https://dl.doubtnut.com/l/_8cU7RhFghTmS
https://dl.doubtnut.com/l/_A904iOOWw0o5
https://dl.doubtnut.com/l/_fTxIDIPlJFtL

25. Rewrite the rational number is the simplest form :

25
45

° Watch Video Solution

26. Rewrite the rational number is the simplest form :

—44
72

° Watch Video Solution

27. Rewrite the rational number is the simplest form:
—8
10

° Watch Video Solution



https://dl.doubtnut.com/l/_iNibOdWKWlkI
https://dl.doubtnut.com/l/_LjZEepRNpqGD
https://dl.doubtnut.com/l/_cIznExRTxIUO

28. Fill in the boxes the correct symbol out of
>, < and =.

-5 _ 2

Ry

7 3

° Watch Video Solution

29. Fill in the boxes the correct symbol out of
>, < and =.

—4 =5

T O0—

5 7

° Watch Video Solution

30. Fill in the boxes the correct symbol out of

>, < and =.
—7|:| 14
8 —16

|


https://dl.doubtnut.com/l/_MRIhl6P0jr0Z
https://dl.doubtnut.com/l/_SAnbx7wmqfIO
https://dl.doubtnut.com/l/_KsgyC7rWcXax

[ W Watch Video Solution ]

31. Fill in the boxes the correct symbol out of >, < and =.

857
5 4

° Watch Video Solution

32. Fill in the boxes the correct symbol out of
>, < and =.

1 —1

O

-3 4

° Watch Video Solution

33. Fill in the boxes the correct symbol out of
>, < and =.
5 D_5

—11 11


https://dl.doubtnut.com/l/_KsgyC7rWcXax
https://dl.doubtnut.com/l/_L0vfFdTi1hsl
https://dl.doubtnut.com/l/_AV3LxlUJpyX0
https://dl.doubtnut.com/l/_WoL2vGlHLIse

o Watch Video Solution

34. Fill in the boxes the

>, < and =.

-7
00—
6

correct

symbol

out

of

° Watch Video Solution

35.Which is greater in each of the following

33

o Watch Video Solution

36. Which is greater in each of the
-5 —4
6 3

|


https://dl.doubtnut.com/l/_WoL2vGlHLIse
https://dl.doubtnut.com/l/_uCDHLKrzwuLI
https://dl.doubtnut.com/l/_7QAaZzqKQI5q
https://dl.doubtnut.com/l/_DnzmdO0aPxqa

| @ Watch Video Solution

37. Which is greater in each of the

-3 2
T3

° Watch Video Solution

38. Which is greater in each of the

-1 1
44

o Watch Video Solution

39. Which is greater in each of the

32 _d
7 5

o Watch Video Solution



https://dl.doubtnut.com/l/_DnzmdO0aPxqa
https://dl.doubtnut.com/l/_2nkh2bz5aLv9
https://dl.doubtnut.com/l/_3HtFaGzFjgV4
https://dl.doubtnut.com/l/_Sg6dNBXjSRyO

40. Write the rational number in ascending order :

-3 -2 -1
555

° Watch Video Solution

41. Write the rational number in ascending order :

-1 -2 —4
37973

° Watch Video Solution

42. Write the rational number in ascending order :
-3 -3 -3
7727 4

o Watch Video Solution



https://dl.doubtnut.com/l/_Sg6dNBXjSRyO
https://dl.doubtnut.com/l/_apA52Xgt1P67
https://dl.doubtnut.com/l/_b7cKxFCPLn5W
https://dl.doubtnut.com/l/_I0a0kwVTFnDd

Ncert Section Exercise 9 2

1. Find the sum:

5, (4
4\ 4

o Watch Video Solution

2.Find the sum:

5.3
35

° Watch Video Solution

3.Find the sum:

-9 22
T T

o Watch Video Solution



https://dl.doubtnut.com/l/_ScMdzTpNKkZX
https://dl.doubtnut.com/l/_bQY9chVV9Xda
https://dl.doubtnut.com/l/_kBfS4Lw2XQ6k

4.Find the sum:
-3 5

—11+9

o Watch Video Solution

5.Find the sum:

-8 (-2
T

o Watch Video Solution

6. Find the sum:

3 10

° Watch Video Solution



https://dl.doubtnut.com/l/_GZ7q4d34dyFS
https://dl.doubtnut.com/l/_zxB3bQclLDzT
https://dl.doubtnut.com/l/_iCXXLG2ztPM0
https://dl.doubtnut.com/l/_adBwaHBfE5qf

7.Find the sum:

1 3
_9- 14~
3 + )

o Watch Video Solution

8. Find
7 17

24 36

o Watch Video Solution

9. Find

5 —6
63\ 21

° Watch Video Solution



https://dl.doubtnut.com/l/_adBwaHBfE5qf
https://dl.doubtnut.com/l/_r1kkoNlDlrHa
https://dl.doubtnut.com/l/_ypmDWrsBrX5d

10. Find

—6 —7
13 \15

° Watch Video Solution

11. Find
-3 7

8 11

o Watch Video Solution

12. Find

1
2= —6
9

° Watch Video Solution



https://dl.doubtnut.com/l/_fRv3yW3e7qIg
https://dl.doubtnut.com/l/_YzCTe4f7n85H
https://dl.doubtnut.com/l/_rLRKO0yQjmic

13. Find the product :

()

o Watch Video Solution

14. Find the product :

3

1—0><(—9)

o Watch Video Solution

15. Find the product :
—6 9

5 11

° Watch Video Solution



https://dl.doubtnut.com/l/_qKMYib4OtB7s
https://dl.doubtnut.com/l/_zX2PWMELF6sS
https://dl.doubtnut.com/l/_HPUWKK1FDhQU

16. Find the product :

>3

o Watch Video Solution

17. Find the product :

3 2
173

o Watch Video Solution

18. Find the product :
3 -5

- X —

-5 3

° Watch Video Solution



https://dl.doubtnut.com/l/_aZRFOxo4y8iO
https://dl.doubtnut.com/l/_pKIVQVpc5HPk
https://dl.doubtnut.com/l/_Jn4t7KdCeHRn

19. Find the value of :

(gl

° Watch Video Solution

20. Find the value of :

3
5

o Watch Video Solution

21. Find the value of :

(-4)-

° Watch Video Solution



https://dl.doubtnut.com/l/_yUvzlPbwYOpT
https://dl.doubtnut.com/l/_QD9bsW9gxFE2
https://dl.doubtnut.com/l/_0hUY8iggDFty

22.Find the value of :
-1 3

8 4

° Watch Video Solution

23. Find the value of :
—2 1

3 77

o Watch Video Solution

24. Find the value of :

-7 -2
= "\ 13

° Watch Video Solution



https://dl.doubtnut.com/l/_VohGOSus2O41
https://dl.doubtnut.com/l/_qwm57OwDkOxu
https://dl.doubtnut.com/l/_9JUpNuu66Wy3

25. Find the value of :

3 (-4
13 "\ 65

° Watch Video Solution

Exercise Multiple Choice Questions Level 1

1. Write down the rational number whose numeratio is

( —2) x 3and denominatoris (17 — 2) x (9 — 6).


https://dl.doubtnut.com/l/_vnCqmDmRE8bz
https://dl.doubtnut.com/l/_ssml1kmLSaPN

Answer: A

o Watch Video Solution

2. Which of the following rational numbers is negative ?

(—3)
A.
7
(—5)
B.
—8
c 9
" 83
( — 155)
— 197
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ssml1kmLSaPN
https://dl.doubtnut.com/l/_SvjZH4PflKe4

3. Which rational number has to be multiplied with 64 to get the

3
product —493 ?

A —35
" 43
B —-31
" 40
c —33
" 40
b —37
" 43
Answer: B

° Watch Video Solution

4. Find the value of the expression
3 3 15 -7

5712 2 g

A—7
-8


https://dl.doubtnut.com/l/_d1OabWCVmzXu
https://dl.doubtnut.com/l/_Mm1gLFj7PhEh

Answer: C

o Watch Video Solution

3
5. Evaluate: <— §> x (— 10)

A —6
B.6

C.8

Answer: B


https://dl.doubtnut.com/l/_Mm1gLFj7PhEh
https://dl.doubtnut.com/l/_aBiHmysIEIrc

o Watch Video Solution

1 1
6. What is the multiplication ong and 55 ?

A21
5

Answer: B

o Watch Video Solution

6 9
7.What is the multiplication of — 9 and 5 ?

A3


https://dl.doubtnut.com/l/_aBiHmysIEIrc
https://dl.doubtnut.com/l/_gvv0hTUflZoz
https://dl.doubtnut.com/l/_FaTAoF1EueiK

c 6
9

b 9
6
Answer: B

o Watch Video Solution

8. What is the product of—% and 5% ?

Al
35
B~ 1—

35

C-1-

4

11

5

Answer: A



https://dl.doubtnut.com/l/_FaTAoF1EueiK
https://dl.doubtnut.com/l/_ZXSeOi77utqp

| ° Watch Video Solution

9. Which number line correctly shows the rational number

_z_|_l?

9 9

.......

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZXSeOi77utqp
https://dl.doubtnut.com/l/_tfDRbYrVWOA5

3
10. Sum of two rational numbers is -8 if one number is T then

find other number.

Answer: B

° Watch Video Solution

11. Write the rational number whose numerator is 4 x ( — 7)

and denominatoris (3 — 7) x (15 — 11).

A 16
- 28


https://dl.doubtnut.com/l/_hhsY1zOHIatK
https://dl.doubtnut.com/l/_a190elxTnTmn

13
13

5 —28
- —16

Answer: D

° Watch Video Solution

6
12. From his home, Rahul walks 7km towards school and then

returns Ekm on the same way towards his home to reach a

landmark. How far is he now from his home ?


https://dl.doubtnut.com/l/_a190elxTnTmn
https://dl.doubtnut.com/l/_Owfvmy7wTUg5

Answer: A

o Watch Video Solution

13. Find the value of the expression

7,5 (=9
(—18)  (—12) (—16)

A —-33
© 144

B 33
144

c 35
144

b —35
C 144

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Owfvmy7wTUg5
https://dl.doubtnut.com/l/_qS0J0sxKPobm

128

14. The product of two rational numbers is VT If one of the

numbers is 1—57, then find the other rational number.

A —128/21
B.128/21
C.—36/73

D.41/70

Answer: A

° Watch Video Solution

1
15. Insert three rational numbers between 3 and %
27 17 41
" 607 60 60
27 17 41

60’ 30’ 60


https://dl.doubtnut.com/l/_BNWaRTFPw5PG
https://dl.doubtnut.com/l/_i861v8RNsqm7

Az
"30° 30’ 60
5 20 17 a1
"30° 307 60

Answer: B

° Watch Video Solution

— 5
16. What should be subtracted from T'? to get 5 ?

g
24
3
S 24
35

C'ﬂ

b —35
24

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_i861v8RNsqm7
https://dl.doubtnut.com/l/_XlYK9HiFrOa9

3 2 —8
— 4 = 2
17. What should be added to (4 + 5) to get T !

—103

60
103
B. —
60
—101

60

101
D. —
60

Answer: C

o Watch Video Solution

1
18. A car is moving at an average speed of 35 km/h. How much

1
distacne will it cover in 57 hours ?

A.16 km


https://dl.doubtnut.com/l/_XlYK9HiFrOa9
https://dl.doubtnut.com/l/_JjAvv2n59veZ
https://dl.doubtnut.com/l/_qGnWdKBUTpAS

B. 18 km

C.14 km

D. 20 km

Answer: A

o Watch Video Solution

16
19. The product of two numbers is 3 If one of the numbers is

26 .
3 Find the other number.


https://dl.doubtnut.com/l/_qGnWdKBUTpAS
https://dl.doubtnut.com/l/_omBdfMZqceU0

Answer: B

° Watch Video Solution

— 750
133 If one of the

20. The product of two rational number is

numbers is 1—72, find the other number.

— 3000
421

3001
427

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_omBdfMZqceU0
https://dl.doubtnut.com/l/_0wrUEi2XmmKe

21. Which of the following pairs represent equivalent rational

numbers ?
—4
A. Z and —_]_6
—2 8
B T and E
12 10
C. 1—5 and 1_8
27 3
D. a and 5
Answer: A

° Watch Video Solution

22. Thre efriends Neena, Asha and Mahak divided a packet of rice

1
8751439 equally among them. How many kgs of rice did each get

?


https://dl.doubtnut.com/l/_P0XNGRsAGpbe
https://dl.doubtnut.com/l/_mDG0yE3kOvY2

1
A.29—kg

1
B.33—<kg

C. 1—73kg

1
D. ﬂk’g

Answer: A

° Watch Video Solution

-3 3
23. Find the sum of e and 1 and represent it on number

line.


https://dl.doubtnut.com/l/_mDG0yE3kOvY2
https://dl.doubtnut.com/l/_hb3Ve3OZpMRM

———t— 1+t
4 1 60 1

Answer: B

° Watch Video Solution

24. Find 3 rational numbers between —3 and — 4.

—-13 —-14 -15

4 7 4 7 4
B. —-13 —-14 -—-15

3’7 37 3

—10 —11 —12

2 7 27 2
oo 112
2727 2

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_hb3Ve3OZpMRM
https://dl.doubtnut.com/l/_JiaQYeGqdubp
https://dl.doubtnut.com/l/_vo6zQBYNi2Uo

7 1
25. Two packets of sweets weight 2§kg and 3Z kg respectively.

How much is the total weight of the sweets ?

A51k
oo kg

Ble
65 kg

39
C. ?kg

57
D. —k
3 9

Answer: B

° Watch Video Solution

26. The sum of three rational numbers is T If two of the

3 -9 .
numbers are 10 and 5 then find the third.


https://dl.doubtnut.com/l/_vo6zQBYNi2Uo
https://dl.doubtnut.com/l/_1t6uHPB8iCSA

Answer: B

o Watch Video Solution

27. Find the rational number, which is _T4 more than -

A — 26
"~ 63

B — 82
- 63

2
63

o 82
63

Answer: C



https://dl.doubtnut.com/l/_1t6uHPB8iCSA
https://dl.doubtnut.com/l/_iXgTzcz4LXO3

| ° Watch Video Solution

—4
28.The quotient of two numbers is ——. If the divident is —

and remainder is O, then find the divisor.

Answer: B

° Watch Video Solution

29. Which of the following numbers occur to the left of 7/5 on

the number line ?


https://dl.doubtnut.com/l/_iXgTzcz4LXO3
https://dl.doubtnut.com/l/_N2wIlieSCAwr
https://dl.doubtnut.com/l/_3zxZVkkw0ovX

N w >

O
w|lot Aoy oo |

Answer: B

° Watch Video Solution

30. Which of the following are incorrect ?



https://dl.doubtnut.com/l/_3zxZVkkw0ovX
https://dl.doubtnut.com/l/_hJ0PtcsiwBuZ

Answer: D

o Watch Video Solution

2
31. Divide the sum of <— —) and by the sum of

5
3
= and %

9
(—10)

—35
86
—91
86

47

85

—173
85

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_hJ0PtcsiwBuZ
https://dl.doubtnut.com/l/_oLD6Jeo4plsR

1 6 1
32.Find the product of2g with the sum of — and 1—-.

7 7

Answer: D

o Watch Video Solution

3 _
33.Find (z + y) + (z — y), wherez = 1 and y = <—7

=
5

5 2
5


https://dl.doubtnut.com/l/_drc3AFyces3C
https://dl.doubtnut.com/l/_xJSobNYPmNF8

Answer: A

° Watch Video Solution

-5 1
34.What is the additive inverse of o + =7

3

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_xJSobNYPmNF8
https://dl.doubtnut.com/l/_dRUBcMVemmcu

. 18 16 .
35. Additive inverse of — 5 X - is

A 5SS
35
B — 551
35
5oL
35
D1~
35
Answer: C

o Watch Video Solution

Exercise Multiple Choice Questions Level 2

1. Which number line correctly shows the rational number

g+2_4 ?
T 14


https://dl.doubtnut.com/l/_dRUBcMVemmcu
https://dl.doubtnut.com/l/_HwE4aEVccxzk
https://dl.doubtnut.com/l/_huoaE7itxOOb

44—ttt

B 0 1 2
I

C o R A
3
4

D 0 T

Answer: A

° Watch Video Solution

2. Of the 120 people in the room, 3/5 are women. If 2/3 of the
people are married, then what is the maximum number of

women in the room who could be unmarried ?

A 40


https://dl.doubtnut.com/l/_huoaE7itxOOb
https://dl.doubtnut.com/l/_oSrHwy9t819L

B. 20

C.30

D. 60

Answer: A

o Watch Video Solution

1
3. A bus is moving at an average speed of 45 km/hr. How much

distance will it cover in 8 hours ?

A . 35—km

B.32—km

295
C.—km

298
D. —km


https://dl.doubtnut.com/l/_oSrHwy9t819L
https://dl.doubtnut.com/l/_iufjkMMW72xz

Answer: B

° Watch Video Solution

4. Which of the following is/are arranged in descending order ?

1 6 16 25
"Troa
B -3 -4 -9 —-13
67 37 47 4

C—5 -3 0 1

87 878’8

D—7 -3 5 8

4 4743
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iufjkMMW72xz
https://dl.doubtnut.com/l/_ShEZgz8k8S24

5. Which of the following is not a rational number between

3 1
= _?
4and2.

Answer: B

° Watch Video Solution

. 3 ) 1
6. Find the product of = and reciprocal of = + 7R
A 6
5
15
B. —



https://dl.doubtnut.com/l/_Tp3soUmCJw40
https://dl.doubtnut.com/l/_78aW5DvGGMCr

Answer: A

° Watch Video Solution

1 1 1
7.What should be added to <§ + 1 3) toget4?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_78aW5DvGGMCr
https://dl.doubtnut.com/l/_m2GuPI81VGSt

4
8. The product of three rational numbes is ( — ﬁ) If two of

2 1
the numbers are (— §> and <— H)’ then find the third

number.

D.—11

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_m2GuPI81VGSt
https://dl.doubtnut.com/l/_MjMWj1mbHYDD

: : 3 T :
9. Find the integer x such that — and are equivalent

8 (— 24)

fractions.

A —19

C.6

D.9

Answer: B

° Watch Video Solution

—4
10. The sum of _L and 5 is equal to the product of ETh

and a number. Find the number.


https://dl.doubtnut.com/l/_0iiU55XEnLL3
https://dl.doubtnut.com/l/_wgee0bLritTo

Answer: B

o Watch Video Solution

1. The reciprocal of the sum of
—11 —2
T3 and i
o0
22
. 222
59
12
39
b2

the

reciprocals

of


https://dl.doubtnut.com/l/_wgee0bLritTo
https://dl.doubtnut.com/l/_COtZZXxduIHf

Answer: D

° Watch Video Solution

12.i — é is not equal to
4 5
A2yl

5 4
B -
" 20
i 2
5 4
.2 _ (_ E)
5 4
Answer: C

° Watch Video Solution

—12
5

13. Divide the sum of

—18
and 5 by their difference.



https://dl.doubtnut.com/l/_COtZZXxduIHf
https://dl.doubtnut.com/l/_8kgUKgJKiRTL
https://dl.doubtnut.com/l/_1JAQbZYMQYZC

A3

D.5

Answer: A

° Watch Video Solution

14. The additive i ¢ 25 2 -1 —-10
-The additive inverse of { —- x & | — | —— x —


https://dl.doubtnut.com/l/_1JAQbZYMQYZC
https://dl.doubtnut.com/l/_dsiE2KXYaYNE

Answer: C

° Watch Video Solution

15. Which of the following pairs does not represent the same

rational number ?

a3 23
T -7
g 3 9
7721
-1 9
3 27
5 —25
"3 —15
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dsiE2KXYaYNE
https://dl.doubtnut.com/l/_yo1eWEJDAeqg

Exercise Matching

1. Match the following :
List-I

() Equivalent rational

numhernfﬂis
5 & 128
(Q) -

(R) [Exi]+[_—2+i]=
3 6 3 =3

(5) 1/3 is smaller than

AP-1,Q—-2R—-38—4
B.P—3Q—-1,R—4,5—2
CP-2Q-3R-4S5-1

DP-4Q -2 R—1,8—3

Answer: C

(1)

(2)

(3)

List-II


https://dl.doubtnut.com/l/_mfSTKmZnTc9u

° Watch Video Solution

2. Match the following :

(P)

List-1

Divide the sum of 12/5

and 13/7 by the product of
4/7 and -1/2.

(Q) Cheena spent 3/4 of her

(R)

pocket money. She spent
1/2 of it on a book, 1/6 on a
movie and rest for a dress.
What part of her pocket
money did she spend on the
dress?

It 35 shirts of equal size can
be stitched from 49/2 metres
of cloth, calculate the length
(in m) of cloth required for
each shirt.

Two packets of chocolates
weigh 9/4 kg and 10/7 kg
respectively. What is the
total weight (in kg) of the
chocolates?

AP-3Q-4R-18-2

{2)

List-11
7010

19
28

14—
10

1/4



https://dl.doubtnut.com/l/_mfSTKmZnTc9u
https://dl.doubtnut.com/l/_gpuYFDYLFncU

BBP-2Q—-4R—-15-3

CP-1,Q-2,R—3,5—4

D.P-4,Q—-3R—-25—1

Answer: A

o Watch Video Solution

Exercise Assertion Reason Type
2, -7

1. Assertion : Multiplication of il and —zs
‘ FHAEP 8 M 3¥Tn

Reason : To multiply two reaction numbers, we multiply their
numerators and denominators separately, and write the product

as

Product of numerators

Product of denominators


https://dl.doubtnut.com/l/_gpuYFDYLFncU
https://dl.doubtnut.com/l/_Bgt2xwIzxJCc

A. If both assertion and reason are true and reason is the

correct explanation of assertion.

B. If both assertion and reason are true but reason is not the

correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

° Watch Video Solution

-7 14
2.Divide — by —
ivide —— by —

o Watch Video Solution



https://dl.doubtnut.com/l/_Bgt2xwIzxJCc
https://dl.doubtnut.com/l/_LBMyzgi4EH37

63 2
147 "¢ "o

3. Assertion: are equivalent rational numbers.

Reason : If the numerator and denominator of a rational
number are multiplied or divide by a same non-zero integer, we
get a rational number which is said to be equivalent to the
given rational number.
A.If both assertion and reason are true and reason is the
correct explanation of assertion.
B. If both assertion and reason are true but reason is not the
correct explanation of assertion.

C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Tu4FVnm0ZTUA

-3 1
4., Assertion : T X 6 is a rational number.

Reason : A number that can be expressed in the form p/q, where
p and q are integers and ¢ # 0, is called a rational number.
A.If both assertion and reason are true and reason is the
correct explanation of assertion.
B. If both assertion and reason are true but reason is not the
correct explanation of assertion.
C. If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Tu4FVnm0ZTUA
https://dl.doubtnut.com/l/_WRbL4s1BPErw

5. Assertion : —1,0,3,14/93 all are examples of rational
numbers.
Reason : All integers and fractions are rational numbers.
A. If both assertion and reason are true and reason is the
correct explanation of assertion.
B. If both assertion and reason are true but reason is not the
correct explanation of assertion.
C.If assertion is true but reason is false.

D. If assertion is false but reason is true.

Answer: A

° Watch Video Solution

Exercise Comprehension Type


https://dl.doubtnut.com/l/_hz0uCiDQZdD9

1. supriya reads 1/3 of a stroybook on the first day and 1/4 of the
book on the second day.
What part of the book is yet to be read by supriya ?

AT/5

B.5/12

C.7/12

D.5/7

Answer: B

° Watch Video Solution

2. supriya reads 1/3 of a stroybook on the first day and 1/4 of the

book on the second day.


https://dl.doubtnut.com/l/_K3ra7iCaolvf
https://dl.doubtnut.com/l/_tLFdsleKb7dM

Total number of pages she read on the first and second day, if
book has 1440 pages, is

A. 840

B. 940

C.740

D. 1040

Answer: A

° Watch Video Solution

3. supriya reads 1/3 of a stroybook on the first day and 1/4 of the
book on the second day.
How many more pages does she read on first day than second

day, if book has 1440 pages ?


https://dl.doubtnut.com/l/_tLFdsleKb7dM
https://dl.doubtnut.com/l/_VDwWxbtEKKo5

A. 140

B. 220

C.120

D. 320

Answer: C

° Watch Video Solution

4.From a starting point A, Rahul walks 3/4 km towards east and
then 6/7 km towards west to reach point C.
Where will he be noe from the starting point A ?

A.9 /28 km towards west

B. 3 /28 km towards west

C. 3 /28 km towards east


https://dl.doubtnut.com/l/_VDwWxbtEKKo5
https://dl.doubtnut.com/l/_dY8pTMTZ9TyR

D. 9 /28 km towards east

Answer: B

° Watch Video Solution

5.From a starting point A, Rahul walks 3/4 km towards east and

then 6/7 km towards west to reach point C.

How much total distance Rahul walks to reach point C?

45
A —
28 ™

43

47
C. 2_8 km

Answer: A

Y.


https://dl.doubtnut.com/l/_dY8pTMTZ9TyR
https://dl.doubtnut.com/l/_hgz4mJP1kFPm

| ¥ Watch Video solution |

6. From a starting point A, Rahul walks 3/4 km towards east and
then 6/7 km towards west to reach point C.

How much more distance he travelled towards west than east ?

-9
28
3
128
9

C.—
28

-3

D.2_8

Answer: B

o Watch Video Solution

Exercise Subjective Problems Very Short Answer Type



https://dl.doubtnut.com/l/_hgz4mJP1kFPm
https://dl.doubtnut.com/l/_HwPzmChSEO5S
https://dl.doubtnut.com/l/_meWPGGEuZhW0

1. Define rational numbers.

o Watch Video Solution

2. What is the standerd form of

° Watch Video Solution

—2
3. Give the additive inverse of 5

° Watch Video Solution

4. Can positive rational number have any negative equivalent

rational ?

o Watch Video Solution



https://dl.doubtnut.com/l/_meWPGGEuZhW0
https://dl.doubtnut.com/l/_Jm1O1lLCZ4RL
https://dl.doubtnut.com/l/_gFvDRodFrWA3
https://dl.doubtnut.com/l/_wMTGRZ4tZftZ

5. Which rational number does the point P represent on this

number line ?

r

5L i o

-2 -1 0 I

° Watch Video Solution

) ) 4 —20
6. Examine if 9 and 15

represent the same rational

number.

° Watch Video Solution

— —1
7. Does the rational number & lie between 3 and KB ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wMTGRZ4tZftZ
https://dl.doubtnut.com/l/_Yenq0Hiy6xnE
https://dl.doubtnut.com/l/_TGFC1RaK9j0U
https://dl.doubtnut.com/l/_LmY0N1ceKM33

10 in standard form .

8. Give reciprocal of

o Watch Video Solution

. —8 —10 ,
9. Divide the sum of B and VT by their product.

° Watch Video Solution

7 -9 5
10.Simplify: — — [ —- .
0. Simplify 39 <13>+ (—26)

o Watch Video Solution

Exercise Subjective Problems Short Answer Type



https://dl.doubtnut.com/l/_LmY0N1ceKM33
https://dl.doubtnut.com/l/_yqfPyW1AWMgi
https://dl.doubtnut.com/l/_uR6TdHIpIsdL
https://dl.doubtnut.com/l/_lB7KPGyZS585

—2 -3
1. List any three rational numbers between — and ETE

° Watch Video Solution

2. Draw a number line and represent = on it.

° Watch Video Solution

3. Which is smaller out of the two rational numbers

31 42?
2’ 5"

° Watch Video Solution

4, Solve:

—5 6 — 5
(Subtract 7 from ﬁ) X (Subtract e from E)



https://dl.doubtnut.com/l/_5sTiM4kk4f46
https://dl.doubtnut.com/l/_501lSdEOlJNg
https://dl.doubtnut.com/l/_lgOFc12yJVzB
https://dl.doubtnut.com/l/_EiwD6pnfrQdt

| o Watch Video Solution

5. Find the following product:

—T g « 4+_5+2
12 10 12 ' 5

o Watch Video Solution

6. Find the reciprocal of value of 1—27 + 14.

o Watch Video Solution

7.Find the reciprocal of

-1 2\, (=51
7T —11 11

° Watch Video Solution



https://dl.doubtnut.com/l/_EiwD6pnfrQdt
https://dl.doubtnut.com/l/_J0PcfpglGRYs
https://dl.doubtnut.com/l/_LvDAb3a2yVu1
https://dl.doubtnut.com/l/_KfCFH8JfCsvj
https://dl.doubtnut.com/l/_lWegog0CbzeV

8. The product of two rational numbers is 1848. If one of the

numbers is -12, find the other number .

° Watch Video Solution

9. Sol 5, E2), (3,8
. D0lve : —_— —_—
13 13 8 ' 20

° Watch Video Solution

-2 -1

5
10. Arrange in descending order : ——, —, —
3 6 6

° Watch Video Solution

11. Simplify:

15 —119 —19 —30 -39 14
— X + X + | — x — x
28 9 20 — 57 3 5

—12

56

)


https://dl.doubtnut.com/l/_lWegog0CbzeV
https://dl.doubtnut.com/l/_jmONEAugZqrc
https://dl.doubtnut.com/l/_j5ktiaTk2QO9
https://dl.doubtnut.com/l/_qBtjmEuOneHE

° Watch Video Solution

12. Simplify:

- 5 .. —9b —96
(Multiply 15 by _28)+(Mu|t|p|y B by 33 )

° Watch Video Solution

() 2 (o)
NEREININA

° Watch Video Solution

14. Simplify :

Lo (37 (32~ (22 _ 1o
12 4 8 5 10 15



https://dl.doubtnut.com/l/_qBtjmEuOneHE
https://dl.doubtnut.com/l/_Gfke9ISfA2cj
https://dl.doubtnut.com/l/_spZ5KwfKe2TW
https://dl.doubtnut.com/l/_Y6R4ayr7UXTe

o Watch Video Solution

. t
139 If one of the

15. The product of two rational numbers is

numbers is 1—73, find the other number.

° Watch Video Solution

Exercise Subjective Problems Integer Numerical Value Type

1. Product of digits of numerator of subtraction of
12 13
(? and 7)

o Watch Video Solution

3 5 —5 1
2.If2Z — §+ E—I—lg = k, then find k.



https://dl.doubtnut.com/l/_Y6R4ayr7UXTe
https://dl.doubtnut.com/l/_G78aJdCgvHCK
https://dl.doubtnut.com/l/_7yyCDQbus2JB
https://dl.doubtnut.com/l/_W90CMtaYojg0

I o Watch Video Solution

3. 4 -2 1
3. Divide gby— and multiply the result by — + —, we get

9 9 3
ﬁ. Find k.
20
° Watch Video Solution
4.The product of 2= and — 5245 —=2% Eind k
.The product o 4an 7zs 7k.m )
o Watch Video Solution
28 —k ) ) .
5. — and —— are equivalent rational numbers. Find
48 —12
(k+1).

° Watch Video Solution



https://dl.doubtnut.com/l/_W90CMtaYojg0
https://dl.doubtnut.com/l/_MtJmF3XSxQNb
https://dl.doubtnut.com/l/_c5ovyHkbPIxN
https://dl.doubtnut.com/l/_wJ2fP9G7cHei
https://dl.doubtnut.com/l/_qszB2BmAVZ6q

6. If % = %, then find the denominator of x.

° Watch Video Solution

7.1f the reciprocal of %is?, then find | + k.

o Watch Video Solution

1 1 1
8. The reciprocal of (5 X 12) + <§ —|—§) is 3k. Find

numerator of k.

° Watch Video Solution

3 24
9. If 3 can be expressed as the equivalent fraction —, then

find k.



https://dl.doubtnut.com/l/_qszB2BmAVZ6q
https://dl.doubtnut.com/l/_877bk8KsTWDs
https://dl.doubtnut.com/l/_oSlluxuCu4fQ
https://dl.doubtnut.com/l/_5qghsKFDJf3E

| ° Watch Video Solution

8
10. If _i5 = then find denominator of x.

° Watch Video Solution

Olympiad Hots Corner

1. Study the statements carefully.

(i) Every integer is a rational number and every fraction is a
rational number.

(ii) A rational number % is positive, if p and q are either both
positive or both negative.

(iii) A rational number % is negative, if one of p and q is positive
and other is negative.

(iv) If there are two rational numbers with common


https://dl.doubtnut.com/l/_5qghsKFDJf3E
https://dl.doubtnut.com/l/_NIsfMtQ3fxmN
https://dl.doubtnut.com/l/_P2q9rwE25N7v

denominator, then the one with the larger numerator is large

than the other.

Which of the following options hold ?

A. Both (i) and (iv) are incorrect

B. Both (ii) and (iii) are incorrect

C.Only (i) is inocrrect

D. All are correct

Answer: D

° Watch Video Solution

2. Arational number-2/3

A. lies to the left side of O on the number line.

B. lies to the right side of 0 on the number line.


https://dl.doubtnut.com/l/_P2q9rwE25N7v
https://dl.doubtnut.com/l/_mOs9bFNwOwcF

C. lies between -2 and 3.

D. lies between 2 and -3.

Answer: A

° Watch Video Solution

24
3. Represent the rational number - = 17 °na number line.

° Watch Video Solution

4. Which of the following statements is incorrect ?

A. e lies to the left of 0 oon the number line.

3
B. On the number line, - lies to the right of O.


https://dl.doubtnut.com/l/_mOs9bFNwOwcF
https://dl.doubtnut.com/l/_wVXzBs1wu1FZ
https://dl.doubtnut.com/l/_rh6nIQkQV7Lm

1 1
C. The rational numbers 3 and — 5 areon opposite sides

of 0 on the number line.

D. Sum of rational number § and — § is not zero.

Answer: D

° Watch Video Solution

5. Which of the following options is correct ?

A.Two rational numbers with different denominators can
never be equal.
: 4 :
B. The rational number 3 lies on the right of O on the

number line.


https://dl.doubtnut.com/l/_rh6nIQkQV7Lm
https://dl.doubtnut.com/l/_r3O1cB0ObZrm

C. Difference of two rational numbers is always a rational

number.

—18 . 3
o1 ST

D. The standard form of

Answer: C

o Watch Video Solution

6. Consider the following statements:

A. The product of an integer and a rational number can never be
a natural number.

B. The quotient of division of an integer by a rational number
can never be an integer.

Which of the statements given above is /are correct?

A. Both Statement-l and Statement-ll are true.


https://dl.doubtnut.com/l/_r3O1cB0ObZrm
https://dl.doubtnut.com/l/_UrmnWjKfZsRr

B. Both Statement-l and Statement-Il are false.
C. Statement-l is true but Statement-ll is false.

D. Statement-l is false but Statement-ll is true.

Answer: B

° Watch Video Solution

7. Which of the following rational numbers satisfies the given

property ?

a+(b+c)=(a+bd) +c

2 5 3
Aa:—g,b:Eandc:—Z
B —lb—3 dc= 2

a—5, —5a11 C——7

5 11 17

Ca——7,b——1—3andc ﬁ

D. All of these


https://dl.doubtnut.com/l/_UrmnWjKfZsRr
https://dl.doubtnut.com/l/_Lk6pMvvbTd8e

Answer: D

° Watch Video Solution

8. Which of the following options shows the numbers arranged

in ascending order ?

n_8__8_4_5
7 7 7 7

s 5_ 5 _ 5_ 5
2 4 7 9

c_2__3__4__6
9 7 5 5
4 3 9 7

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_Lk6pMvvbTd8e
https://dl.doubtnut.com/l/_oWMzzMU48pLF

6
D.12—
17

Answer: C

° Watch Video Solution

10. Which of the following options represents the value of P

shown on the number line ?


https://dl.doubtnut.com/l/_Wyg9tk7CBw0P
https://dl.doubtnut.com/l/_YsTlDm8dloUL

I

Wl Wk
_|_
[\

Answer: C

° Watch Video Solution

11. State 'T' for true of 'F' for false and select the correct option.
(i) Every natural number is a rational number.

(ii) Every rational number is a fraction.


https://dl.doubtnut.com/l/_YsTlDm8dloUL
https://dl.doubtnut.com/l/_th8LB3JdGZiw

(iii) Zero is not a retional number.

1
(iv) The reciprocal of O is R

o (1) (@) (i) (i)
F T T F
g (1) (i) () (iv)
T T T F
c (B () () (i)
'T F F F
o, (1) (@) (id) (i)
T T F F

Answer: C

° Watch Video Solution

12. Represent the solution of the equation on a number line:

p—(2p+5) —5(1—-2p) =2(3+4p) —3(p—4)?

° Watch Video Solution



https://dl.doubtnut.com/l/_th8LB3JdGZiw
https://dl.doubtnut.com/l/_bQO96YQHm9Nh
https://dl.doubtnut.com/l/_xqJosQS3LLg3

13. What rational number should be added to <?) to get the

greatest negative integer ?

ENTIEICIEEN T

—4
C —
7

D7
3

Answer: C

° Watch Video Solution

1
14. One rational number between = and 1 is
A 18
" 100
22

B.m



https://dl.doubtnut.com/l/_xqJosQS3LLg3
https://dl.doubtnut.com/l/_xbaKvsDpxyxv

c 26
" 100

27
" 100

Answer: B

° Watch Video Solution

15. Which number is the additive inverse of the reciprocal of

5
— 7

8

Answer: B



https://dl.doubtnut.com/l/_xbaKvsDpxyxv
https://dl.doubtnut.com/l/_RyifDoqEmbSP

| @ Watch Video Solution

16. Simplest form of

Answer: D

° Watch Video Solution

. -5 -7 -3,
17. The descending order of iy - is

-5 -7 -3
77 4 8



https://dl.doubtnut.com/l/_RyifDoqEmbSP
https://dl.doubtnut.com/l/_FtmHkC2QeayR
https://dl.doubtnut.com/l/_R0M1OuYA2h2u

-3 -5 -3

8 7 77 4
-7 -5 =3
4’ 7 8
-5 -3 -7
77 87 4
Answer: B

o Watch Video Solution

11
18.1f p = 3 then p lies between
A.—5 and —4
B.—3 and — 2
C.4 and 5
D.3 and 4

Answer: D

__on the number line.



https://dl.doubtnut.com/l/_R0M1OuYA2h2u
https://dl.doubtnut.com/l/_ieRfDuoS1k2w

| ° Watch Video Solution

19. A rational number between —4 and — 3is

Answer: D

° Watch Video Solution

, 1 -3 -1 1.
20. The reciprocal of27 + (H) + (2_8> + 1Z is


https://dl.doubtnut.com/l/_ieRfDuoS1k2w
https://dl.doubtnut.com/l/_bWYR3T4F12hc
https://dl.doubtnut.com/l/_PNcL9lndtetq

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PNcL9lndtetq

